KANSAS CORPORATION COMMISSION FROM

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORMNFIDENTIAL WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 7311 CUNFIUENTIAL	API No. 15 - 109-20714-00-00 ORIGINAL
Name: Shakespeare Oil Company, Inc.	County: Logan
Address: 202 West Main St.	C _E/2 _NE _ NE _ Sec. 10 _ Twp. 13 _ S. R. 32 East
Address: Salem II 62881	660 feet from S / N (circle one) Line of Section
City/State/Zip: Salem, IL 62881	330 feet from (E) / W (circle one) Line of Section
Purchaser: NCRA	
Operator Contact Person: Donald R. Williams RECEIVED	Footages Calculated from Nearest Outside Section Corner:
Phone: (618) 548-1585	(circle one) (NE) SE NW SW
Contractor: Name: Murfin Drilling Co., Inc. JAN 2 2 2004	Lease Name: Well #: 2
License: 30606	A Field Name: N/A
Wellsite Geologist: Richard Hall	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 3020' Kelly Bushing: 3025'
New Well Re-Entry Workover KCC	Total Depth: 4730' Plug Back Total Depth: 4678'
d Tour Abd	Amount of Surface Pipe Set and Cemented at 218 Feet
JAN 1 / 2	Multiple Stage Cementing Collar Used?
Gas ENHR SIGW	Alfyses, show depth set 2532 Feet
Dry Other (Core, WSW, Expl., Cathodie; CONFIDENT	A Alternate II completion, cement circulated from 1950
If Workover/Re-entry: Old Well Info as follows:	
Operator:	feet depth to surface w/ 225 sx cmt.
Well Name:	Drilling Fluid Management Plan Alt II Un 4.29
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr/SWD	Chloride content 6500 ppm Fluid volume 2500 bbls
Plug Back Total Depth	Dewatering method used Evaporation
Commingled	Location of fluid disposal if hauled offsite:
Dual Completion Docket No.	Operator Name:
Other (SWD or Enhr.?) Docket No	Lease Name: License No.:
11/28/03 12/06/03 1/7/04	Quarter Sec Twp S. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Recompletion Date Recompletion Date	County.
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
() 00 P 11 M.	/ KCC Office Use ONLY
Title: Vice President Date: 1/14/04	Letter of Confidentiality Attached
Subscribed and sworn to before me this 14TH day of JANUARY	If Denied, Yes Date:
Subscribed and sworn to before me this 1714 day of	Wireline Log Received
20.04	Geologist Report Received
Notary Public: ann. Smith	UIC Distribution
Date Commission Expires: 11-23-06	
OFFICIAL SEAL	
ANN M. SMITH NOTARY PUBLIC, STATE OF ILLINOIS	
MY COMMISSION EXPIRES 11-23-2006	

CONFIDENTIAL

Side Two

ORIGINAL

perator Name: Shal	kespeare Oil Cor	mpany, Inc.	Lease	e Name:	eeter		_ Well #:		
oc. 10 Twp. 13		☐ East ☑ We	est Count	ty: Logan					
STRUCTIONS: She sted, time tool open mperature, fluid reco	and closed, flowing overy, and flow rates	and shut-in press if gas to surface	sures, whether s test, along with	shut-in pres	ssure reached	static level, hydro	ostatic pressure	es, potton	n noie
ectric Wireline Logs	surveyed. Attach f	inal geological we	II site report.			FROM			
rill Stem Tests Taker (Attach Additional S		✓ Yes □	No	₽ Lo	og Form	Hoff Top Depth			Sample
amples Sent to Geo	logical Survey	✓ Yes	No	Name	9		Тор		Datum
ores Taken		Yes 🗸]No					K	CC
Electric Log Run (Submit Copy)]No	SEE		AL REPORT		JAN 1	7 2004
st All E. Logs Run:						LOCIVED	CC	MEID	ENTIA
Oual Induction	n, CDL, CNL,	ML, Sonic, C	CBL/GR			AN 2 2 2004		טו וואוכ	CIVITAL
					NCI	CWICHIT	A		
			ASING RECORD			uction, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.		/eight	Setting Depth	Type of Cement	# Sacks Used		and Percent
Surface	12 1/4"	8 5/8"	24#		218'	"A"	150	2% ge	al, 3% Ca0
Production	7 7/8"	5 1/2"	15.5#		4728'	ASC	200	5#/sx g	il, 3/4% CF
		ADDI	TIONAL CEMEN	TING / SQL	JEEZE RECO	RD			
Purpose: Perforate	Depth Top Bottom	Type of Cem	ent #Sac	cks Used		Type and	Percent Additive	98	
Protect Casing Plug Back TD	2532' (PC)	POZMIX	VIX 480		65/35 W/ 6% GEL & 1/4#/SX FLOCELE				
Plug Off Zone	1950'	POZMIX / "A	225 /	50	50 65/35 W/ 6% GEL & 1/4#/SX FLOCELE / 2% CACL				CACL
Shots Per Foot	PERFORAT Specify	TION RECORD - Bry Footage of Each Int	ridge Plugs Set/Ty terval Perforated	ре	Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Det				Depth
4	Johnson 4586-	88, 4596-98, 46	606-08		500 gal 15% NEFE				4586-460
4	LKC "J" 4248-5	2, set RBP			No Treatment				
4	LKC "H" 4194-9	98, set RBP			500 gal 15% NEFE			4194-98	
TUBING RECORD	Size	Set At	Pack	er At	Liner Run				
	3/8"	4661'	n/a			Yes VI	No		
的是这些是他们是对它的是他的 是是		Enbr Prod	ucing Method	Flowin	na Pu	mping Gas	Lift O	ther (Explai	in)
Date of First, Resume	rd Production, SWD or			L LIOWII	9				
Date of First, Resume	rd Production, SWD or Oil 112		Gas Mcf	Wa 0		Bbls.	Gas-Oil Ratio		Gravity 32

LIED CEMENTING CO., INC. KCC Oakles RUSSELL, KANSAS 67665 JAN 17 2004 ON LOCATION JOB START RANGE LOCATION OGRIEV 12,5 W/S OLD OR NEW (Circle one) CONTRACTOR wild west well Service, OWNER Circulate Cemany TYPE OF JOB CEMENT HOLE SIZE T.D. AMOUNT ORDERED 350.5Ks LiTA CASING SIZE DEPTH TUBING SIZE DEPTH DRILL PIPE TOOL (3 @ 8,35 COMMON PRES. MAX MEAS. LINE SHOE JOINT **POZMIX** @10.00 CEMENT LEFT IN CSG GEL CHLORIDE PERFS. DISPLACEMENT 2.5K5 **EQUIPMENT** Mo Seal PUMP TRUCK CEMENTER #373-281 HANDLING 500 5Ks @/115 MILEAGE 54/SK/mile 361 DRIVER RECEIVED **BULK TRUCK** DRIVER JAN 2 2 2004 3 BPM@600#KCC WICHITSERVICE DEPTH OF JOB 150,00 PUMP TRUCK CHARGE Mix 225 sks Lite followed w/50sk EXTRA FOOTAGE MILEAGE /2 miles 7 Bhla at 1 BPM Shut value on 8 TOTAL 692.00 STREET FLOAT EQUIPMENT CITY_ ZIP STATE To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment

and furnish cementer and helner to assist owner or

TOTAL

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

KCC JAN 17 2004

CONFIDENTIAL

INVOICE

Invoice Number: 092050

Invoice Date: 01/13/04

Sold Shakespeare Oil Co., Inc.

To: 202 West Main St.

Salem, IL 62881

RELEASED **FROM** CONTRIDIENTIAL

Cust I.D....: Shak

P.O. Number. .: Teeter #2

P.O. Date...: 01/13/04

Due Date: 02/12/04 Terms...: Net 30

Item I.D./Desc. Q	ty. Used	Unit	Price	Net	TX
Common	50.00	SKS	8.3500	417.50	T
Gel	18.00	SKS	10.0000	180.00	T
Lite	225.00	SKS	7.7500	1743.75	T
gand	2.00	OKO	7.5000	15.00	Т
FloSeal	88.00	LBS	1.4000	123.20	T
Handling	500.00	SKS	1.1500	575.00	E
Mileage (12)	12.00	MILE	25.0000	300.00	E
500 sks @\$.05 per	sk per mi				Secondary Secondary
Circulate	1.00	JOB	650.0000	650.00	E
Mileage pmp trk	12.00	MILE	3.5000	42.00	E
All Prices Are Net, Date of Invoice. l If Account CURRENT ONLY if paid within	1/2% Charged Therestake Discount of \$	after. Tax 404.64 Pays	total: ments: al:	4046.45 156.20 0.00 4202.65	

RECEIVED JAN 2 2 2004 KCC WICHITA ALLIED CEMENTING CO., I

RUSSELL, KANSAS 67665			65	KCC	019	OAKLEX		
12-23-03 DATE	SEC.	TWP. 13.5	RANGE 324	CALLER PUT 7 2004 ON LOCATION	JOB START	JOB FINISH		
TEETER LEASE	WELL#	2	LOCATION OR	KLEXCONFIDENTIAL FO	COUNTY	STATE		
OLD OR NEW (Ci	ircle one)				ELEASED			

CONTRACTOR OE SERVECENL OWNER SAME FROM TYPE OF JOB COMPR CONFIDENTIAL HOLE SIZE CEMENT T.D. CASING SIZE AMOUNT ORDERED DEPTH 480 SKS 65/35 po2 6 % 682 4 Flo SEA TUBING SIZE DEPTH DRILL PIPE 55K56EL 100# Flo-SE14L DEPTH TOOL DEPTH PRES. MAX **MINIMUM** COMMON MEAS. LINE SHOE JOINT **POZMIX** CEMENT LEFT IN CSG GEL @ 10 PERFS. CHLORIDE @ DISPLACEMENT LITE 4805KS (a) **EQUIPMENT** @ @ PUMP TRUCK CEMENTER TERRY

300 HELPER FUZZY 480 SKS @ **BULK TRUCK** MILEAGE 0.54 PER SR/MITC # 361 DRIVER **BULK TRUCK** 4918 % RECEIVED TOTAL _ DRIVER

> JAN 2 2 2004 **REMARKS:** SERVICE

KCC WICHITA PRESSURE SYSTEM TO 1500 pSI. MIX 5 SKS GEL, OPEN PORT COLLAR MIX DEPTH OF JOB 1753KS CEMENT. THEN SOSKS WIDTH 100# Plo-SEAL SHUT DOWN FOR BOMME, MEY PUMP TRUCK CHARGE EXTRA FOOTAGE (a) JOSKS CEMENT, SHUT DOIN FOR SOMEON MIX 205 SKS CEMENT DESPIACE 9/4BB. SHUT PORT COLLAR. POR REVEREE DUT, REPKESSYLE @ 350 MILEAGE PLUG @ @ TO 1500 PET, HELD. NEUER HAN Blow. @ THANK YOU

CHARGE TO: SHAKES FEARE OIL CO, INC. STREET_

CITY__ STATE_

To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

FLOAT	EQUIPMENT	
-------	-----------	--

@ @ @ @

TOTAL

IF PAID IN 30 DAYS

TAX_

TOTAL CHARGE DISCOUNT -

PRINTED NAME



Sold Shakespeare Oil Co., Inc.

To: 202 West Main St.

P.O. BOX 31 P.O. BOX 51 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

JAN 1 7 2004

CONFIDENTAL

INVOICE

Invoice Number: 091971

Invoice Date: 12/31/03 RELEASED

FROM

RECEIVED

JAN 2 2 2004

KCC WICHITA

Cust I.D....: Shak

P.O. Number ..: (Teeter #2)

P.O. Date...: 12/31/03

Due Date.: 01/30/04 Terms...: Net 30

Salem, IL 62881

Item I.D./Desc:	Qty Used	Unit	Price	Net TX
Gel	5.00	SKS	10.0000	50.00 T
Lite FloSeal:	480.00 220.00	SKS LBS	7.7500	308.00 T
Handling Mileage (12)	480.00 12.00	SKS MILE	1.1500 24.0000	552.00 E 288.00 E
480 sks @\$.05 p		JOB	650.0000	650.00 E
Mileage pmp trk	12.00	MILE	3.5000	42.00 E
Date of Invoice. If Account CURREN	et, Payable 30 Days Fo 1 1/2% Charged Therea IT take Discount of S nin 30 days from Invoi	fter. Tax. 561.02 Paym	otal: ents:	5610.00 256.91 0.00 5866.91

CONFIDENTIALLIED CEMEN	ITING CO., I	NC. 14821
JX 31 SELL, KANSAS 67665	KUU	VICE POINT:
10 135 324	CALLED OUT ON LOCATION ON FIDENTIAL	JOB START JOB FINISH 3. 45 Am CQUNTY STATE
	4/25 W/S	Eoggn KS
D OR NEW (Circle one)		ELEASED
CONTRACTOR MULLING Drie Rig 24 TYPE OF JOB 3/2 Production 5 Tring HOLE SIZE 7/1/6 T.D. 4/730' CASING SIZE 5/2 DEPTH 4729' TUBING SIZE DEPTH DOOL FOLT CONGR DEPTH TOOL FOLT CONGR DEPTH 2533' PRES. MAX MINIMUM MEAS. LINE SHOE JOINT 42,50' PERFS. DISPLACEMENT // 2 136/5 EQUIPMENT PUMP TRUCK CEMENTER DEGAR	CEMENT AMOUNT ORDERED 200 sks Asc 296 14 of 190 cd 31 ASC COMMON 200 sks POZMIX GEL 4/5 ks CHLORIDE CD 31 /509 Gilsonite / 000	500 gal WFR-2 @ 9,85 [970,00 @ - @ 10,00 40.00 @ 5,50 825,00
# 373-28/HELPER FUZZY BULK TRUCK # 2/2 DRIVER Jarrod BULK TRUCK # DRIVER REMARKS: Pulma 500 99/5 WFR-2	HANDLING 200 SKS MILEAGE 59 /SK /S RECEIVED JAN 2 2 2004 KCC WICHITA SERV	0 /1/5 230, 60 (25 (25 (25 (25 (25 (25 (25 (25 (25 (25
Plud Rat Hole W/155KS Plud Rat Hole W/155KS Plud Misse Hole W/105KS Plud Aid not Land, Elect Held. Thank you	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 12 Miles PLUG 5 12 Rubber	
CHARGE TO: Shakespeare Oil Co, Inc	FLOAT EQU	TOTAL 1232.00
CITYSTATEZIP	Port Collar	@ <i>[756,00</i> @
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment		

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 KCC JAN 1 7 2004

INVOICE

...ORIGINAL

CONFIDENTIAL

CENTRAL

Invoice Number: 091817

Invoice Date: 12/11/03

Sold Shakespeare Oil Co., Inc. To: 202 West Main St. Salem, IL 62881 RELEASED FROM CONFIDENTIAL

gile Coop

Cust I.D....: Shak

P.O. Number ..: Teeter #2

P.O. Date...: 12/11/03

AMERICA COLUMNIA Private con cons

Int

Due Date: 01/10/04 Terms...: Net 30

W/ 200 SKS.

Item I.D./Desc. Q	ry. Used	Unit	Price C	Net	TX
ASC Gel CD 31 Gilsonite WFR-2 Handling Mileage min. chg.	200.00 4.00 150.00 1000.00 500.00 200.00	SKS SKS LBS LBS GAL SKS MILE	9.8500 10.0000 5.5000 0.5000 1.0000 1.1500 125.0000	1970.00 40.00 825.00 500.00 500.00 230.00 125.00	T T T T E E
Production String Mileage pmp trk Rubber plug Port Collar	1.00 12.00 1.00 1.00	JOB MILE EACH EACH	1130.0000 3.5000 60.0000 1750.0000	1130.00 42.00 60.00 1750.00	E E T T
All Prices Are Net, Date of Invoice. 1 If Account CURRENT ONLY 11 paid within	1/2% Charged There	Pafter. Tax	total: ments: al:	7172.00 - 355.64 0.00 7527.64	

JAN 2 ² 2004 KCC WICHITA

ALLIED CEMENTING CO., INC. 14896

OT TIM.	P.O. BOX 31	
	RUSSELL, KANSAS 67665	

AIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	KCC SERVICE POINTS IN A L OAKLEY
11-29-03 SEC. TWP. 35 RANGE 32W	CALLED OUT ON LOCATION JOB START JOB FINISH
126-1211	COLINE
- Decimient of the	2EY 125- W. TINTO COUNTY STATE XS
OLD OR NEW (Circle one)	RELEASED
CONTRACTOR MURFEN DRLG. RIL #24	OWNER SAME CONFIDENTIAL
TYPE OF JOB SURFACE	OWNER SAME CONFIDENTIAL
HOLE SIZE 121/4" T.D. 220	CEMENT
CASING SIZE 8 5/8' DEPTH 220'	AMOUNT ORDERED 150 SKS COM 32002266
TUBING SIZE DEPTH	THROUND ONDERED 100 SICONIS ACE 2668
DRILL PIPE DEPTH	
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON_ 150 5 KS @ 835 1257 56
MEAS. LINE SHOE JOINT	POZMIX @
CEMENT LEFT IN CSG. 15'	GEL 3 5KS @ 16 9 30 %
PERFS. DISPLACEMENT /3 AAI	GEL 3 5KS @ 16 % 30 % 150 %
DISPLACEMENT /3BBL,	@
EQUIPMENT	@
	@
PUMPTRUCK CEMENTER TERRY	@
# 300 HELPER WAYNE	@
BULK TRUCK	HANDLING 150 SKS @ 1-250
# 2/2 DRIVER FUZZY	RECEIVED 125-00
BULK TRUCK	RECEIVED 125
# DRIVER	JAN 2 2 2004 TOTAL (100505)
	11.30
REMARKS:	KCC WICHITA
CEMENT ATA STRC	SERVICE
TETTO MOTO STORE	DEDONALONA
	DEPTH OF JOB 220'
	PUMP TRUCK CHARGE 520 %
	EXTRA FOOTAGE @ MILEAGE /2 MT @ 250 117 50
	DITIO & The state of the state
	70
	@
THANK YOU	@
	TOTAL 607 400
CHARGE TO: SHAKESPEARE OIL CO, INC.	TOTAL DO
TREET	FLOAT EQUIPMENT
CITYSTATEZIP	- CONTINUE
ZAI	
	<u> </u>

@

To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment ALLIED CEL.ENTING CO., INC. 11 P.O. BOY 31
P.O. BOY 31
P.O. BOY 31

Shakespeare Oil Co., Inc.

202 West Main St.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

To:

KCC JAN 1 7 2004

CONFIDENTIAL

ORIGINAL

INVOICE *

*

Invoice Number: 091727

Invoice Date: 11/30/03

RECEIVED

JAN 2 2 2004

KCC WICHITA

RELEASED FROM CONFIDENTIAL

gili copy

Cust I.D....: Shak

P.O. Number. : Teeter # P.O. Date. . . : 11/30/03

14702_7

Due Date.: 12/30/03 Terms...: Net 30

Salem, IL

62881

Item I.D./Desc. Ot	. Used	Unit	Detes	Net TX
Common	150:00	SKS	8.3500	1252.50 T
Gel	3.00	SKS	10.0000	= 30.00 = T
Chloride	5.00	SKS	30.0000	150.00 T
Handling	150.00	SKS	1.1500	172.50 E
Mileage min. chg.	1.00	MILE	125.0000	125.00 E
Surface	1.00	JOB J	- 520.0000	520.00 E
Mileage pmp trk	12.00	MILE	3:5000	42.00 E
Surface Plug	1:00	EACH	45.0000	45.00 T

Broidel Wases	Substitut of Mark Reference Control of the		WHILE THE					
All Pr	ices Are Net,	Pavable 30	Davs Fol	lowing	Subtota			37 00
	Finvoice. 1				Tax:		CELENTER BELLEVIALD	93.09
						The recovery of the state of th		
ONT IS	ount CURRENT	cake bracour	IL OL (Pa)	22,14	Payment			0.00
ONLY 11	paid within	30 days ire	m Invoic	e Date	Total		240	30.09